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1.
A researcher wants to investigate the well-established relationship between lead intake and developmental problems in a sample of Peruvian children. The researcher tests the levels of lead in the blood of 9 six-year-old children (presumably chosen at random). She also assesses the children’s motor skills and physical development using a well-known test. The lead is measured in micrograms per deciliter (high scores indicate more lead), and the motor skills test ranges in value from 0 to 50 (high scores indicate higher functioning). The data follow:  


           Lead            Skills 
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Do the data reveal a linear relationship between lead and motor functioning in the population? Use the space above and below to compute the correlation coefficient. Test the correlation for significance using NHST. Show all of your work and interpret your results along the way.
For the analysis below, the researcher thinks she can predict relationship commitment from relationship satisfaction. 

2.  Fill in the blanks:

       ______________ is the independent variable, and ____________ is the dependent variable 
3.  Using the information below and the equations we learned in class, compute the regression   
  weight (slope parameter) and y-intercept values that are missing from the bottom table.  
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Descriptive Statistics

Mean Std. Deviation N
commit 6.8142 1.65971 80
satisfac 6.6344 1.19529 80
Correlations

commit satisfac

commit  Pearson Correlation 1 769"
Sig. (2-tailed) .000
Sum of Squares and 217615  120.564
Cross-products
Covariance 2.755 1.526
N 80 80
satisfac  Pearson Correlation 769" 1
Sig. (2-tailed) .000
Sum of Squares and 120.564 112.868
Cross-products
Covariance 1.526 1.429
N 80 80

**_ Correlation is significant at the 0.01 level (2-tailed).

Regression
Coefficients®
Standardized
Unstandardized Coefficients Coefficients
Model B Std. Error Beta t Sig.
1 (Constant) 877 -.403 .688
satisfac .100 .769 10.634 .000

a. Dependent Variable: commit




4.  Suppose a participant’s score on Satisfaction is 5.6.  What is this participant’s predicted 
     Commitment score? Compute the value. 

